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A Tx SPEE aoes: | SE) | Zaed | HE
2021-09-01  |ZHA| A X2l o Afof| w2 22| F X|Z(0 0 0) 1 50,000 e 7|2
2021-09-01 12:36 |HH AT }= ANYER S QEE FY| X Z(HHHLLE) 4 100,000 7tE INE-!
2021-09-02 13:34 | A L4 Sk0f AFEIE S EA 2ol Zhetsl 2zl X T(ZMAl Fohel A S 4 40,000 7tE A| =4
2021-09-02 13:34 [O| T AA| APEIE S Z2l0] 2hetE 2aZH| X BN Al o2l H S ) 5 50,000 7tE Al 7';|H
2021-09-02 13:37 |2 XM &M AFEIE S EA 2ol Zhetsl 2zl X T (ZAAl Fohel A S 19 190,000 7tE A| =
2021-09-02 13:37 | X| W M O &l AFEITIS IR o] ZhEtE] @EZH| X (ZMAl Kojel M SEHH) 4 40,000 IE INES:
2021-09-03 A A A Z 2l Of Atof t2 Fo|F X[Z(00, 000) 2 100,000 ola 7|
2021-09-06 PAbSIPNES gl ZAlol e %22 xIF(00, 000, 000) 3 150,000 oia 7|2
2021-09-06 12:03 |25 7= ANl MRt FoE HER D eEl AMR eag X 4 44,000 7tE A| =
2021-09-06 12:09 |5+ < 2R Metxiol e BaE 8| 21EE AR Es| A1 4 55,000 1= A| =H
2021-09-06 12:11 [H}=HAE 2N Metxtol Fery B A el Zhesl AR 28s| X1 4 44.000 IE INE-
2021-09-07 12:35 | =2/ HIA SRR D | URIUY =D a7 HH| X Z 4 51,000 7te INE-:
2021-09-07 12:39 | & H kO SAREI T | GRIUE =T SFZIE Gy KT 4 6,900 7te INE-
2021-09-07 12:39 |O| FAA| SRR 7| LR UY =T 2 ZY| X F 4 20,000 7t A| =H
2021-09-07 1241 [ X| g€ M T & SRIRAT 7 R UE =D QETIE HH| X2 4 10,000 7tE INE-
2021-09-07 12:43 [ A~ E=HEH7)| SARX Y | URI YUY =THe @FZIE Fu| KT 4 12,000 7= A| ZH
2021-09-08 12:35 [ OtAl = &F ANHER AZTAK 22 Ab| X2 (KBS) 3 32,000 7IE Al ZH
2021-09-08 12:45 | & AN AHEE AZ TR 272HE ZAH| XIS (KBS) 4 120,000 7IE A| ZH
2021-09-08 15:59 |C}| to| 2O} E EMEN FE0|52 HE 2E 7 4 160,000 7tE 7|2
2021-09-08 16:00 |Cff 5tOI 2O} E FMUE ASRM Mol AHEE T2 95 3,800,000 7= 7|t
2021-09-08 16:15 | M 22t =X FAUE ZMAIQ S ofY MEEE T 5 224 550 7tE 7|2
2021-09-08 16:27 | S ¢ SHAQIZI M| A [FAHHE 2 A2 3 olel MetEE 72 6 300,000 = 7|2
2021-09-08 16:28 | =& SHAFOI ZI M| A |5uzn seoim=slele Sxis, col8) HE2E 72 4 200,000 e 7| =
2021-09-08 1645 | X[ HM =P s QI |F4ud s a2+, 224, f2712 & 222z 79 23 943,000 7t 7|2k
2021-09-09 | ZI x| A| & =2l of Atof] hE Ho|F X|F(0 0) 1 50,000 Ha 7|2
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2021-09-10  [HAMAE (AFMAIZAED) |FHYY 2F 70 228 UM AZYER 7 1,800,000 g 7|2t
2021-09-10 13:37 | X| = M 7 7! HMD =lel 2ZtE 3 7He Add| X2 25 250,000 7tE AlRl [aEel SEF =AE e
2021-09-10 13:38 |O| S AA| ZAMD 2ol 2ZtE 3 Zhet du| X2 21 210,000 = AlZH e see sa b
2021-09-10 13:38 | & 14 5k0f ZMa Aol ZzZtE 3 Zhet Ao X2 2 20,000 7tE AlRl [zEel BEF =AE e
2021-09-10 15:32 |ZAMx M s xetgel [F MM 212222l A2 % ¢ 43 1,720,000 7tE k=
2021-09-10 15:33 |2 A B G s xgteiol | FM WY 2HR 228l A2 ¢ 19 760,000 7tE 7|2t
2021-09-10 1546 |[CU LE=EH = ZMYA stH0|5te ZHHEE 7 105 3,874,500 = 7|2
2021-09-10 15:57 | 7EH Al 5| EMUE AR Fe A SE 2 37 1,480,000 7tE 7|2t
2021-09-14 12:20 |44 AT HE Aot =o| zbzhet Hu| X3 150,000] 7t |A|&  |z=uwuonesnizsy
2021-09-15 12:14 [ =&l LAl 27§ ol o @EZIE HH| x| F 23,000 tE INE-
2021-09-15 12:15 | =74 b| 5 BHX| H M5+ |2riAl gaas wauer el 2 aizie 2y X2 24,000 7tE Al zH
2021-09-16 13:38 [ A~ EFstyy| stzo|stel SLUEI(A}) 2het ZH| X2 35 350,000 7tE e e e
2021-09-16 13:38 |O| A A| stzdo|stel BUEA(1R}) 2he Ho| X2 30,000 = A N e ks
2021-09-16 13:39 | Z/ X S stdo|stel IUEI(1R}) 2het Ho| X2 80,000 7tE 7| & |rEEEEs sA b
2021-09-16 17:52 |7 }H| A}O] W Ha S2(FHOEF) 7 450,000 7tE k=
2021-09-17 13:50 | A 4 g0 sHdo|stel IZUEF (2R} ZHet HH| X2 3 30,000 7tE A e i R
2021-09-17 13:52 || S AA| stzio|stel BZE A (2R} 7he Ho| X2 50,000 = A N e ks
2021-09-17 13:52 | A~ EFstyy| stzio|stel SUEF (2R} et HH| X2 17 170,000 7tE e e e
2021-09-17 13:53 | X| = M 7 7! stzio|stel BZE A (2R}) 2he Hu| X2 20,000 7tE 7|2k [pEdEEF AR e
2021-09-17 13:54 | 2 | S~ sZA0|5l 22 E T (24}) 2he Au| X2 23 230,000 7tE A e i R
2021-09-17 14:32 |HT 2 2= MEQX| |24 zaags euxe w12is 714 7ol 245 1,200,500 7t= 7|2t

2021-09-23 | ZI X A| & = 2l Of Atoj 2 Fo|Z X|Z (00 o0) 1 50,000 Hg 7|2

2021-09-23 | ZI K| A| & =gl Aol e Zo|Z X|Z (00 o0) 1 50,000 Hg 7|
2021-09-23 12:17 | =%/ A S PR FA s 25ty XS 4 28,000 = 7|
2021-09-23 12:36 |S/1H| 3| X HMEHR |HAIL S 2 %7 D22 284u| X 4 55,000 = 7|2




dHAE EFFTH HFLH 20218 9E

UX g2 FEER oyeEs | 39@) | ZAZE | o= [ Ha
2021-09-24 | ZI K| A| & x el AAlo| o2 Fo|2 x|Z(000) 1 50,000 Hg 7|2
2021-09-24 12:30 (M UX| S O{EF Mool 2uxgass 52 2% 2a2te 28] 73 4 32,000 A= A| =H
2021-09-27 ZHAA X2l HAtol W2 £2/F X|1F(000,000,000) 3 150,000 olg 7|2
2021-09-27 12:31 [ Z=0| = 1| OF T o021t shutr) zioleiat App et s a1t Hef 222u| 712 3 44,000 te 7|zt

2021-09-27 12:33 | K| G MHIX| 2H= 20214 BHUI7| HI|QIAL ALR R SR 22y 2| X2 6 146,000 7lE 7|2k [z A ER 2B EY
2021-09-29  [ZI M A| A |2l off Afofl w2 Feo|F X|F(000,000) 2 100,000 o= 7|
2021-09-30 | ZIX{|A| & =gl of Alofl wh2 Ro|F X|Z(0 0 0) 1 50,000 Hg 7|2
2021-09-30 17:34 | K| B M B A S5 GHH Q1 |l 24nAm 24 NURE 283l Al 528 547 72 10 410,000] 7I=  [A[H




